A Reconsideration of the Word Order <To Not Do>*
Tadao Nomura and Donald L. Smith

1. Introduction

     It is well known and emphasized in school grammar that the standard word order is <not to do>, not <to not do> in infinitival clauses, and such description is also found in reliable grammar books such as follows. Consider the following examples:

(1) a. Try not to be late. (NOT USUALLY  Try to not be late.)

 


























(Swan 19952: 276)

b. It [i.e. the group ‘to + infinitive’] cannot be split up by the negative particle not:
e.g. The wisest policy would be not to do anything at all. (*to not do) 















(Declerck 1991: 467)

     However, Pollock (1989), for example, who has proposed the Split-Infl Hypothesis, assumes the word order <to not do> as grammatical and discusses its derivation:

(2) a. Peter expects his friends to not object to his proposals.
b. John wants to not go.             












 








































(Pollock 1989: 375)

Many previous studies clearly show that many attested examples of this word order are seen in Present-Day English (see Konishi (1981), Fuse (1988), Declerck (1991), Higashi (1999), Mori (1999, 2000), Fitzmaurice (2000), Yasui (2004), etc.), as illustrated in (3) and (4):

(3) a. It’s much better to not have them screaming at each other.

b. How could people be so insensitive as to not know they’ve got wax in their ears.





 (Higashi 1999: 380)

(4) a. We will send enough troops to not let Macedonia shut down its borders.

b. You have to learn to not let it start. 



 














































(Fitzmaurice 2000: 171) 

     Below, in this article we discuss the grammatical and semantic conditions on the <to not do> word orders in infinitival clauses.

2. Previous Studies

     First of all, before entering the main discussion, we will briefly review previous studies. Konishi (1984) points out that the <to not do> word order has long existed from the older English periods, and that it can easily occur after semi-auxiliaries such as try to, tend to, etc. Fuse (1988) reviews the history of this word order and opinions of traditional grammarians towards this word order from the viewpoint of split infinitives, and shows many examples that he collected. Higashi (1999) points out that this word order is used more often used in the definitions in English-English Dictionaries now than before, and states that the rate of using this word order is 4.3% in the British Corpus. Fitzmaurice (2000) discusses this word order from the viewpoint of de-grammaticalization, which she says is frequently seen in Present-Day American English and, interestingly, is often used by educated people.　　(According to her research, the rate of using between the <not to do> and the <to not do> word orders is about 8:1.)  Yasui (2004) points out that the <to not do> word order functions to avoid ambiguity, that this word order has stronger power than the normal <not to do> word order (we too will discuss these two points later), and that, generally speaking, the rate of usage the <to not do> word order is low but the frequency is different from construction to construction (e. g. in frequency how not to do>how to not do, but used not to do<used to not do). Mori (1999, 2000) presents an important and comprehensive study on this topic. He researches the frequencies of <not to do> and <to not do> word orders by using large corpora, and classifies the occurrences on the basis of each construction. According to his research, the total number of examples and their rates of use of <not to do> and <to not do> word orders are 2,728 (88%): 362 (12%). Then he arrives at the following conclusion:

(5) Though the underlying word order in negating to-infinitivals is <to not do>, the negative not normally moves before to because of the Principle of Politeness. However, in the case where the speaker feels that he or she wants the influence of negation not to be weakened (e. g. emphasis, blame), the negative not does not necessarily move.1)




(Mori 1999: 122, translations are ours)

     Now, what has been most generally claimed in previous studies concerning the motivation for this word order is that it is used to avoid ambiguity (see Quirk et al. (1985), Yasui (2000), etc.), which is also thought to be the cause of split-infinitives as a whole. Consider the following examples:

(6) His hardest decision was not to allow the children to go to a summer camp. 










(Quirk et al. 1985: 497)

(7) a. His hardest decision was to not allow the children to go to a summer camp.

b. To allow the children to go to a summer camp was not his hardest decision.     
















   (ibid.)

If we use the <to not do> word order in (7a), then not will undoubtedly negate the infinitive allow. However, if we use the <not to do> word order, an ambiguity will arise, i.e., we cannot distinguish the reading of negating the infinitive in (7a) from that of negating the main verb was in (7b). Nevertheless, as Mori (1999, 2000) claims, it is only when the infinitival clause is the complement of be-verbs that the ambiguity arises, and thus in other constructions no ambiguities will arise. Consequently, we cannot consider avoiding ambiguity the sole cause for using the <to not do> word order. Moreover, Fitzmaurice (2000) claims that there is a difference in meaning between the <not to do> word order and the <to not do> word order. This is not surprising considering the principle “one form for one meaning, and one meaning for one form.”(cf. Bolinger 1977: x)

     In this section we briefly reviewed the previous studies.

3. Action and State
     Considering the previous studies, we propose the following grammatical and semantic conditions:

(8) a. In negative infinitival clauses both the word orders of (i) <not to do> (=unmarked) and (ii) <to not do> (=marginal, marked) are allowed in Present-Day English.

b. the unmarked <not to> word order takes action predicates (or stative predicates as a syntactic default) while the marked <to not> word order takes only stative predicates. 

Note here that the <not to do> does not necessarily express Action; the <not to do> word order expresses both Action and State as a syntactic default. In other words, though the <not to do> word order should normally express Action as an added meaning implied by the word order, it also expresses State because it is a syntactic default. Consider the following example:

(9) Not to have a PhD will make it hard to find a job, so you had better try to finish writing your thesis.

(9) clearly takes a stative predicate. On the other hand, since the <to not do> word order is the marked order, it would be ungrammatical unless it meets the constraint that this unmarked word order express State. Thus, the following is (also) grammatical:

(10)To not have a PhD will make it hard to find a teaching job, so maybe you had better try something else.2)
In sum, to make (8) above descriptively more accurate we can reformulate it as (11):3)
(11) The unmarked <not to do> word order expresses Action (and State as a syntactic default), while the marked <to not do> word order only expresses State.4), 5)
     Let us turn to the main discussion. Based on (8), consider the following examples:

(12) You are {not to/ *to not} be late.

 (=Don’t arrive late.)(Action)

(13) a. You are not to say a word until he has left.

　　　(=Don’t say a word until he has left.)(Action)

b. You are to not say a word until he has left.

(=Keep silent until he has left.)(State)        










































(Nomura 2004a: 694)

(14) a. Peter expects his friends to not object to his proposals. (=(2a))

      (=Peter expects his friends to have the opinion that they do not object to his proposals.)(State) 
b. John wants to not go. (=(2b))

(=John wants to be among those who do not go.)(State)

These examples are straightforwardly explained by (8): since the sentence meaning is naturally “Don’t arrive late,” the <not to do> word order expressing Action is the only order possible. (Note that “?Stay (Be) on time” expressing State is unnatural.)  On the other hand, since we can naturally conceive both the interpretations of “Don’t say a word until he has left”(Action) and “Keep silent until he has left”(State), both word orders are possible.6)  The same is true of (14a, b).

     So, since “You are to not be late” in (12) is unacceptable, is the word order <to not + the stative be> always impossible?  Indeed, since normally one gives orders telling people what to do rather than telling them the way things should be, we may say that the <to not + the stative be> word order is not easily acceptable. However, if you think about what a movie or play director might say, this word order will be acceptable, as shown in (15), since “being” in a particular state would be the result of a deliberate action.

(15) When the scene begins, you are to be totally absorbed in reading the newspaper. You are to be unaware of anything going on around you. You are to not be hearing anything going on around you.7)
     Next, let us consider the claim in (5) that Mori (1999, 2000) makes, namely that the <to not do> word order implies emphasis or blame. Basically, we also consider this claim to be appropriate (see also Fitzmaurice (2000) and Yasui (2004)). This is because there should be an adequate reason or intent for the achievement of a resulting state of affairs. If the marked word order is used, we may imply such intent. However, we do not consider that the <to not do> word order itself has the meaning of emphasis or blame, but that the linguistic form of to [not do] (=to maintain a state of not doing) implies the referent’s persistence, non-cooperation, or strong involvement and consequently this word order is very often used in emphatic or blameworthy situations.

     A question might be raised here: one might wonder why the <to not do> word order should express State (not Action) if it implies emphasis or blame for the achievement of that state. Indeed, we see a comment that could support this idea in Radford (2004). Consider his examples in (16) and his statement in (17):8)
(16) a. He decided [not to co-operate with the police].

b. He decided [to not co-operate with the police]. 








































(Radford 2004: 169)

(17) There is a subtle meaning difference between the two examples: (45b)(=(16b)) implies a much more deliberate act of defiance than (45a)(=(16a)).                                
















  (ibid.)

Note in particular that Radford (2004) suggests that (16b) describes a deliberate act of defiance. We agree that (16b) is a strong position, and, nevertheless, claim that the basic meanings of (16a, b) are Action and State respectively, as shown in (18a, b), and the emphatic meaning in (16b) is caused by the implicative meanings of the referent’s persistence, non-cooperation, or strong involvement, which come from the State interpretation, and consequently (16b) should be interpreted as (19):

(18) a. [Decide [not to do]] implies a denial or refusal to do an act.
b. [Decide [to not do]] implies a decision to maintain a state of not doing.

(19) He decided to maintain the position of non-cooperation as opposed to simply not act in a cooperative manner.
     In order to show that the assumptions in (18a, b) are appropriate, let us consider examples when want or try, rather than decide, in the matrix sentences in (16a, b) are used.

     First, consider examples with want. Note here that want to implies that some kind of activity will follow, i.e., be in (20a) implies not the stative be but become (action), and know in (20b) implies not being in the state of knowing but finding out (action):

(20) a. He wanted to be a teacher.

    b. He wanted to know the answer.

Taking this into consideration, consider the grammaticality in (21a, b):

(21) a. He wanted not to cooperate with the police.9)
b. *He wanted to not cooperate with the police.
If the <to not do> word order were to express Action, (21b) would be grammatical because want to implies that some kind of activity will follow, but ungrammaticality results. In fact, the <not to do> word order in (21a) is grammatical, so this is consistent with our claim that the <not to do> word order expresses Action.

     Next, consider the case of try examples, where the matrix verb decided is changed into tried. The implication in the examples is that the subject could not help but do so, i.e. cooperate against his own will (implying Action):

(22) a. He tried not to cooperate with the police, but in the end [he was forced to do so/he gave in and did so].

b. He tried to not cooperate with the police, but in the end [??he was forced to do so/*he gave in and did so].10)
These differences, though subtle, are clear enough. These differences in grammaticality support our claim that the <not to do> word order expresses Action and the <to not do> word order expresses State. 

     We conclude that the <to not do> word order indeed implies emphasis or blame, but that such emphatic meanings are caused by the implicative meanings of the subject’s persistence, non-cooperation, or strong involvement, which come from the State interpretation.11)
4. Concluding Remarks

     In this article we have discussed the grammatical and semantic conditions for the <to not do> word orders in infinitival clauses. We have proposed that, since the <to not have> word order is a marginally marked word order, the predicate in the infinitival clause must express Action as an added meaning implied by the word order. Furthermore, we have claimed that this word order implies some emphasis in meaning, but that it is caused by the implication that comes from the State interpretation.

     In English classes in Japan students are taught that only the <not to do> word order is right and the <to not do> word order is a grammatically deviant form, but even though the <not to do> word order is commonly used, students should be taught, for comprehension knowledge at least, that the <to not do> word order is, in fact, sometimes seen in Present-Day English and it implies emphasis on a state of being as the result of a deliberate decision to remain in that state of being. 
Notes

*This article is a slightly revised English version of Nomura and Smith (2007) “<To Not Do> Gojun Saikoo [A Reconsideration of the Word Order <To Not Do>],” Eego Seenen [The Rising Generation] 153(6), pp. 368-371, Kenkyusha, Tokyo, originally published in Japanese. 

     We are deeply indebted to Ken-ichi Takami (Gakushuin University) and Shigeo Tonoike (Aoyama Gakuin University) for their insightful and helpful comments on an earlier version of this article.

1. Mori (1999, 2000) recognizes that there is a derivational relation between the <not to do> word order and the <to not do> word order, and claims that the <to not do> word order is an underlying structure and thus the <not to do> word order is derived from the <to not do> word order by the movement of not. However, we consider that these two word orders are not identical constructions and thus one word order is not derived from the other. For the studies discussing the derivation of these two word orders, see Pollock (1989), Iatridou (1990), Hasegawa (2003), Nomura (2006), etc., but we will not consider this problem further in this article.

2. Note that the negative form of the gerundive expression in (i) means (10) rather than (9):

  (i) Not having a PhD will make it hard to find a teaching job, so maybe you had better try something else. (≒(10))

3. One of the present writers, Nomura, discusses in Nomura (2004a, 2006) the semantic and grammatical condition on the <have/be + not> word orders in subjunctive present clauses from the viewpoint of Action and State as well, and shows a similar note as (11) in Nomura (2004b).

4. Note that this relation is similar to the one seen in two constructions expressing of movement and giving, that is, the unmarked dative construction and the marked double object construction; the Flow-of-Information Principle, i.e. elements in a sentence are ordinarily arranged in the order of older (less important) information to newer (more information) information, is broken both in (ia, b), but (ia) does not become ungrammatical since it is a default structure. However, since the double object construction is normally used when the speaker wishes to show that the direct object represents newer (more important) information than the indirect object, (ib) is ungrammatical because the Flow-of-Information Principle is broken (see Takami (2003)).

(i) a. John gave a book (newer information) to her (older information).

     b. *John gave a girl (newer information) it (older information).





































(Takami 2003: 44)

5. One of the present writers, Nomura, states in Nomura (2004a: 604, fn. 4) that “such meaning implied by the word order of verbal elements and not is also seen in the relation of the Modal be and not in the be to construction,” but the acceptability in (12-13) should be explained not by the relation of “the Modal be and not” but by the relation of “not and the infinitival maker to.”  Here I, Nomura, will modify it.

6. Shigeo Tonoike (personal communication) suggested that we can assume (11) because the negation of the whole infinitival clause is the <not to do> word order alone and the <to not do> word order is verb phrase negation. We are grateful to him for suggesting this idea.

       Note incidentally that one of the present writers, Nomura, also claims in Nomura (2006: Chapter 4) that the <to not do> word order is verb phrase negation, but, as we state in note 1, we will leave details relating to how this word order is derived in syntax for future study.

7. This is the same, for example, with the fact that progressive forms co-occurring with always or all the same often implies blame, as shown in (i), but the progressive form itself does not have the meaning of blame:

  (i) John is always asking silly questions.

8. We are grateful to Ken-ichi Takami (personal communication) for pointing out Radford’s (2004) examples in (16a, b) and his statement in (17).

9. Needless to say, (i) is more natural than (21a), but this does not have an influence on the main discussion:

(i) He didn’t want to cooperate with the police.
10. Note that when the expression that does not directly mean Action or State follows, it will be grammatical, as shown in (i):

(i) He tried to not cooperate with the police, but in the end he had to change his position.

11. Considering our claim, Radford should have better said something like in (i) rather than (17):

(i) In (16b), the speaker has decided to take a stand, while in (16a), the speaker has simply decided to act in a certain way by not cooperating. Taking a position or a stand, i.e. to remain in a particular state, seems stronger than simply behaving in a particular way. That is, (16b) implies maintaining a more determined position of defiance, like taking a stand as opposed to undertaking a different course of action.
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